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1 次の計算をせよ。 

(1) aba 3)2(      (2) )5(2 2 aaa   

(3) )58(4 zyxx      (4) )()273( acba   

2 次の計算をせよ。 

(1) aaa 4)1216( 2      (2) aaba 2)128( 2   

(3) )3()36( 22 xyxyyx     (4) xxx
2

3
)39( 2   

3 次の計算をせよ。 

(1) )5()4(2  xxxx     (2) )62(4)2(3  xxxx  

(3) )5(2)4(3 ababaa     (4) )2(5)26(
2

1
yxxyxx   



【解答】 

1 

(1) aba 36 2   

(2) 23 102 aa   

(3) xzxyx 42032 2   

(4) acaba 273 2   

 

2 

(1) 34 a  

(2) ba 64   

(3) yx  2  

(4) 26  x  

 

3 

(1) xx 33 2   

(2) xx 185 2   

(3) aba 25 2   

(4) xyx 1513 2   


